Tune Shim Effects – First Integral
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 85.968

 4-pole [G] = -268.6

 6-pole [G/cm] = -17.274

 Local fit of order: 3

 2-pole [Gcm] = 85.968

 4-pole [G] = 45.685

 6-pole [G/cm] = -17.274
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Phase = CP+    Gap = 30mm

   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 68.927

 4-pole [G] = -261.4

 6-pole [G/cm] = 7.0894

 Local fit of order: 3

 2-pole [Gcm] = 68.927

 4-pole [G] = 52.882

 6-pole [G/cm] = 7.0894
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 72.661

 4-pole [G] = -684.03

 6-pole [G/cm] = 10.287

 Local fit of order: 3

 2-pole [Gcm] = 72.661

 4-pole [G] = -25.243

 6-pole [G/cm] = 10.287
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Phase = HP    Gap = 13mm

   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order 3

 2-pole [Gcm] = 68.705

 4-pole [G] = 1177.2

 6-pole [G/cm] = -375.57

 Local fit of order: 3

 2-pole [Gcm] = 57.488

 4-pole [G] = 258.31

 6-pole [G/cm] = 44.223
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Phase = CP-    Gap = 13mm

   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 93.559

 4-pole [G] = -1153.9

 6-pole [G/cm] = 79.614

 Local fit of order: 3

 2-pole [Gcm] = 94.105

 4-pole [G] = 1874

 6-pole [G/cm] = 46.752
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 40.548

 4-pole [G] = -1179.1

 6-pole [G/cm] = 173.15

 Local fit of order: 3

 2-pole [Gcm] = 40.222

 4-pole [G] = 1840

 6-pole [G/cm] = 188.09


image4.emf
2000

1500

1000

500

0

-500

-1000

-1500

-2000

First Integrals (Gcm)

-2.5 -2.0 -1.5 -1.0 -0.5 0.0 0.5 1.0 1.5 2.0 2.5

Transverse position (cm)

Phase = VP    Gap = 13mm

   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order 3

 2-pole [Gcm] = 1.8249

 4-pole [G] = -3033.3

 6-pole [G/cm] = 2075.2

 Local fit of order: 3

 2-pole [Gcm] = 62.588

 4-pole [G] = 4139.6

 6-pole [G/cm] = -681.11
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 49.595

 4-pole [G] = 149.67

 6-pole [G/cm] = -12.902

 Local fit of order: 3

 2-pole [Gcm] = 49.181

 4-pole [G] = 121.36

 6-pole [G/cm] = -4.2795


